
15/15

 
2.Do not screw on the bolts too tight unless the
installation is done. Make sure all bolts are tightly
screwed before you use it.

1.Two or more people are required for assembly

1/15

Bed Frame 



2/15

 

Assembly Instruction

2.Do not screw on the bolts too tight unless the
installation is done. Make sure all bolts are tightly
screwed before you use it.

1.Two or more people are required for assembly

1

4

5

5

6

7

8

9

10

11

17 19

18

20
T3

V x4

13x2

14

15x2

12

6

2

3

1

16x2

x2pcs1

x1pc2

x1pc3

x1pc4

x10pcs55

x2pcs6

x1pc7

x1pc8

x1pc9

x1pc10

x1pc11

x1pc12

x2pcs13

x1pc14

x2pcs15
ST4.2x12



3/15

x2pcs16

x1pc17

x1pc18

x1pc19

x1pc20

x4pcsV

x1pcT3

x1pcK

x1pcU

x12pcsA

x6pcsB

x1pcC

x4pcs

x4pcs

x15pcs

D

x2pcsE

M8x16

M8x12
white zinc

M8x14

M8x60

M8x40

B

M4x10

ST3*10

D

E

F

G

x2pcsH

x3pcsI

x17pcsJ

ST4.2*10

M5x40

x1pcL

x2pcsM

x3pcsN

x1pcO

2.5x2.5

5x5

x1pcP

x20pcsQ

3x3

21

22

14/15

C

B

B

24

T3

C 1pc

B 6pcsM8x12
white zinc

M8x14

20

19



1

2

19

20

13/154/15

J 3pcsM5x40

11

8

J

10

K

Accessory I is not locked 
tight at first

Fastening accessories N

G

N

N

G 3pcsST3*10

N 3pcs

M

rotates 90 degrees and gets stuck 

metal frame as showed

Open the metal frame

T3

2pcsM

F

T3

V

M4x10F 4pcs



3

4

17

18

5/1512/15

J 3pcsM5x40

G 2pcsST3*10

12

J

10

G

G

9

14

5  

5  
Q

20pcsQ

A 2pcsM8x16

A

2 

13

3 



5

6

15

16

11/156/15

I 4pcs

J 11pcsM5x40

WARNING!
To avoid injury, keep your fingers,hands
and feet away from the moving parts.

1 

1 

Open and expand it as showed x2

G 4pcsST3*10

J

J

J

8

9

102

11

12

3

J

I

16

7

GG

Adjust the position of accessory 14 
so that the door panel is tight

14

U
H

H

9

2pcsH ST4.2*10



7

8

13

14

10/15 7/15

A 2pcsM8x16

A 4pcsM8x16

7

2pcs19 ST4.2x12

A

Install      and      as showed17 18 17

18 19

A

A

Fix ① with screws on two sides of footboard

1

1

17

18

G

G
G

16

3

2

ST3*10G 6pcs

2 pcs16

Rotate this screw to 
adjust the height up
 and down

Rotate this screw to 
adjust the front and 
rear distance

 If component 7 does not close
 properly after it is installed, adjust
 it according to the following view.

40°

15

8

7



9

10

11

12

9/158/15

A 4pcsM8x16

D 4pcsM8x40

9

A

1

2

3

1

Fix the screws on two sides under headboard

D

1

1

6

6

1

1

4

E

M8x60E 2pcs

7

15
15

ST4.2x1215 2pcs


